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t(s) ¥ () ¥ ()
0.000 0.129 0.970
0.033 0.247 1.038
0.067 0.366 1.094]
0.100 0.451 1.133
0.133 0.587 1.166
067 0.704 1.189
0.200 0.811 1.197
0.233 0.918 1.194
0.267 1.022 1.178
0.300 1.122 1.154
0.333 1.225 1.114
0.367 1.334 1.063
0.400 1.435 1.003
0.433 1.539 0.920
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Microso ft Excel

la mejor re ct Kj 680044 EDEEDE?£ 0.16208917357521  deseas
hacer una
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Microso ft Excel

la mejor parabola es y=-5.353431 DEEPDDISEdﬁ*‘- 2—2.225362?15?2?21{—
0.967495964863023 ;deseas hacer una prediccion?
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Tutorial

https://drive.google.com/file/d/1UyoFaGsZ57nnUzVnyWueerRduKy779Cz/view?usp=sharing



